
tnl~~iua’uQYn~rnslnzlu
(Correlation and Regression)

TXY
= z: (X-Xl  (Y-k)

NW,
.

K-x x mu x-X

J iinu  Y - Y

rxy %ihi10~5:M~1J  -1.00 ii4 + 1.00

. . . . . . . . . . . . . . ..s.. (14-2)

. . . . . . . . . . . . . . . . . . . ..(14-3)
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rxY zz l- 6 xdf
N3  - N

*.,.. . . . . . . . . . . . . . . . . . . ..(14-5)
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rbis-ZZ
rpbi

. . . . . . . . . . . . . . . . . . . ..(14-10)

,.,.... . . . . . . . . m...(14-11)

1 2 3 4 5 6 7 8 9 1 0 1 1 1 2 1 3 1 4 1 5 1 6 1 7 1 8 1 9 2 0  p q

6 IO 0 10  1 0 0 1 0 1 1 1 0 1 0 0 0 0 1 1 0 IO.40 0.60
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a+c=qk
I

h + d = pI<
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7 11

1 9

8 20

t%l ?”
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-im

a+b=pi

c+drqi

1.00
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Iphi  =
7x0-4x1

, dllx9x12x8

5h  - 4
= __-

4 9504

= 0 . 5 3
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t =: .75 J 15-2
1 -.752

Zf 14.74

UlfNl131J~  a = .05, df = 13, t = 2.16

.', lsl~~lasPruxl~~lu~tunR19  (reject Ho)

u*un”o

14.5 Ltl9;f)WtltHJ  (Regreeeion  line)

Y = a+bX . . . . . . . . . . . . . ..(14-17)
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b = NXXY  -CCXj  iX:Yj
NXX" - czx)2

. . . . . . . . . . . . . . . . . . . . . . . . . . . (14-19)

1 6 3 8 7

2 5 0 7 4

3 5 5 7 6

4 6 5 9 0

5 5 5 8 5

5 70 87

7 6 4 9 2

8 7 0 9 8

9 5 8 8 2

1 0 6 8 9 1

11 5 2 7 7

1 2 6 0 7 8

N = 12 c x = 730 x Y = 1017

MI<  371

X Y X2 X Y

3969 5481

2500 3700

3033 4180

4225 5850

3025 4675

4900 6090

4096 5888

4900 6860

3364 4756

4624 6188

2704 4011

3600 4680

c x2 = 4493; C XY = 62352
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x = 60.83

Y = 84.75
N = 12

b = 12 (62352) - (730) (lG17)
12(44932)  - (730)2

= 0.925

a = 84.75 - (0.925) (60.83)
.

= 28.482

error of estimate LhNYlU6Xl  S.E.,,t,



2; = txyZx . . . . . . . . . . . . . . . . . . . . ...*...(14-24)

lun”luoJliiaan’Mn”nl~l~~~~u~~~l  x mnfil  Y lkhn’u

z; zx rxyzy . ..*....................... (14-25)

hlH  371 1 5 6



X Y

10.0 18.7

10.5 21.5

11.0 18.5

11.5 19.6

12.0 18.2
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X Y

12.5

13.0

13.5

14.0

X

14.5 19.6

15.0 23.8

15.5 21.7

16.0 23.2

Y

MI<  371



57 1.9
53 2.6

48 1.7

56 2.5
50 2.9

47 1.9
52 1.3

56 3.0
58 2.5

56 2.3
57 1.4
58 1.5

55 1.7

66 3.8
69 2.1

47 1.8

66 2.3
45 2.5
49 2 . 0
59I& 3.2
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